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SECTION -1
Tug - |
CHILD DEVELOPMENT AND PEDAGOGY
EISACCICRERRSINI]
There are 30 questions in all in this section.
All questions are compulsory.

T @UE A Fol 30 T B |
aft we T E |
1.  Which of the following is most important in learner centered curriculum ?
(A) Teacher (B) Child
(C) Contents (D) Environment
foremeft Sfea wrgeskn # frefofad § @ =i go8 geegei @ 2
(A) 3II9Th (B) =1
(C) Torraeg (D) TR
2.  Repeatedly asking children to engage in learning activities either to avoid punishment or to

gain a reward will

(A) Decrease extrinsic motivation

(B) Increase intrinsic motivation

(C) Would encourage children to focus on mastery rather than performance goals.
(D) Decrease children’s natural interest and curiosity involved in learning.

TAN-TR =1 o1 1 8 5= I1 348 I <6 foru s i nfafafi § gem 24 & foro g s
cutaT g ?

(A) ITeh! TEL TOT ] HH HLAT 2 | B

(B) 39eh! STT=I1ieh T0T ! g1 2 | =

(C) w=Al o] ©1&g YevH hl a5 WEnY BIfiel i % ufd 2 $fzd i & forg Trearfed
FATE |

(D) =i i STehfae = 3R Hiwa # e 1 it S s s g |
3.  According to RTE Act, 2009 working hours per week for teachers are

(A) 40 hours (B) 42 hours
(C) 45 hours (D) 48 hours
R4 3. safafem, 2009 % AR et @ fore wfa gwre wm % fyffa @2 2
(A) 40%2 (B) 42%
(C) 45% (D) 48°%
4. Which among the following is different from the characteristics of a Good test ?
(A) Reliability (B) Validity
(C) Objectivity (D) Aptitude
= 6 @ & 1 v Iam we hi fovryarsti @ = 2 7
(A) fowaefiTar (B) duar
(C) aegfsar (D)  Afirerma
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The purpose of evaluation is

(A) To label children as slow learner and gifted children.

(B) To identify children who need remedial measures.

(C) To diagnose learning difficulties and problem areas.

(D) To provide feedback on the extent to which we have been successful in imparting
education for a productive life.

TeTeh I 3E9d FTEAT R 7

(A) == i g faremeff 3R gfqumamest a=1 & =9 | 3ifeha & & fog |

(B) 3A =1 I vg=H w1 & fore {52 st sum i smeavasar 2 |

(C) HiEH <l shigTgal 3 T & o1 fHeM i & fofu |

(D) 34 i ae gl war e et a8 Saresiia sftad % fore fren yem e 8§ uwe @

g
A Reflective teacher creates classroom situations for students to
(A) Listening the lecture. EEm
(B) Taking notes from the lecture of the teacher. 5 ;

(C) Maintaining classroom discipline.

(D) Promoting interaction between students and the teacher.

U famaeier freres serr-=et § U aftfeafa scm e 2 6 am
(A) TN A T |

(B) heaT-whed H f1ereh & AT & A13H o Teh |

(C) HeAT-He | JIEA 571 W |

(D) BT 37 frerss # ureiis 3t fohan =1 dicare firet |

Action research means

(A) A longitude research.

(B) An applied research.

(C) A research initiated to solve an immediate problem.
(D) A research with socio-economic objective.

ToraTenes STgEYT &1 34 B
(A) TH I IEIH |

(B) T IFTIHI SFTHYM |
(C) U MY fH deenTet THEN 1 &t foman ST &eh |

(D) FmTTSTeR - 3mfefes 3299 < H1Y Ush Y |
According to NCF 2005, the role of a teacher has to be

(A) Permissive (B) Facilitator
(C) Authoritative (D) Dictatorial

NCF 2005 % 38R, T T i it 21 =tey

(A) FHIH (B) gfewerar
(C) aTferertits (D) qHEEE
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9.  Development proceeds from to .
(A) General — Specific (B) Complex — Hard
(C) Specific — General (D) Simple — Easy
fereprar S H T 2 |
(A) gm - fafire (B) Sifed —=pfaa
(C) Tafsre —gmm= (D) HIYRUI- 3ATEH

10. Match the following Principles of Development with their correct description :

Name of Principle of Development Description of Principle
(1) |Proximodistal trend (a) |Head to Toe Sequence
(2) | Cephalo-caudal trend (b) |Different children develop at different rates
(3) |Inter-individual Differences (c) |In a single child, the rate of development
can vary from one domain of development to
the other
(4) |Intra-individual Differences (d) |Growth from the Centre of body to outwards

m @ 3 @
(A) (d) (a (b)) (o) EEE
B) (@ (@®) (¢ (@ &
©) (© (@ ®) (a
D) @ () (@ (o
frafafga fawm o fagrai 1 37 T8 avia 7 firem ifsw .

Torepra & fagra w1 W Togra w1 v

(1) = -quime fen [(a) [FraRssn

() |fR — e fewm (b) |faft= s= fim-Rer @t d=ea € |

(3) | Frqdafeaes firgarnd (c) |ferdlt ueh s ¥ forspra <Y <, forenmd & wsp &1 i 319em
et @ fu=1 21 gk 2 |

(4) | Faafes fiad [(d) |3t & 8 ae el s afg

“Hn @ 6 @

(A) (d (@ () (9

B) (@ (b)) () (@

© © (@ b (@

D) (d () @ (©
P.T.O.
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12.

13.

14.

(6) PL-1
The Nature and Nurture debates refer to
(A) Genetic and Environment (B) Behaviour and Environment
(C) Environment and Biology (D) Environment and Upbringing
weh{d ud Tt faare frforfiga & @ foras aafa 2 2
(A) ITEfER Ud ardTEo (B) SIEER Ud ATqmE
(C) daTaTeavT v Stafas (D) STATaLo Td Tei= -0

Which of the following statement or statements is/are false ?

(a) Itis not necessary to understand that each child is unique.

(b) The child develops as unitied whole.

(c) Any problem in one aspect of development is likely to affect the others.
(d) Development is a sequential process.

(A) (a), (b)and (c) (B) (b)and (c)
(C) (c)and (d) (D) Only (a)
frferfiga o & =8 @1 31 99 O HU A B/E ? o]

(a) IR WHSAT FE TEI 2 b wieh wr=n arfgefia 2 |
(b) =T T Tehihd qu o & # forehfira grar |
(c) Terehma % woh Tae # foreht e B e bt Tt S Bl FeeTeT B 2 |
(d) ToemE v s i 2 |
(A) (), (b) 3 (c) (B) (b) 3T (c)
(©) (c) 3R (d) (D) % (a)

occurs when there are orderly and progressive changes in a human being due to
maturation and experience.

(A) Growth (B) Development
(C) Physical changes (D) Mental changes

a9 BT 1 BNl B, T« qNugar 3R ST % HROT A § ey 3 wfasier
itEd B 2 |

A) d9fg (B) fasm

(C) wifteh sem (D) wHfEH afEda
Which of the following is not a characteristic of early childhood ?
(A) Pre-Gang age (B) Imitative age

(C) Questioning age (D) Toy age
Frefatea o & 1 @ T=997 6 faewar T& 2 7

(A) STB-2reft 3 (B) STIHTIE 311

(C) FaTd & ht 3719 (D) fgein g
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16.

17.

18.

19.

) D

Each person’s work is a reflection of certain abilities, in performing any particular task, a
person selects some of his mental abilities as a model. This principle was given by

(A) Thorndike (B) Thurstone

(C) Gilford (D) Thomson

T =Afad 1 % ffved a1 afafara g 2, et foory #0351 w0 1 safaq st

T AT AEarsii § ¥ 5@ w1 Ufdes! % ¥4 4 9419 F o 2 | 78 fagra foram e 2

(A) oTeTsH (B) ¥

(C) frewiE (D) UTHEA

Which of the following is projective technique of personality measurement ?
(A) Rating scale (B) Observation

(C) Interview (D) Thematic appreciation test
foe & & i it s ferres o < wad fafa 2 2

A) TFratoor g (B) 3TacieRd

(C) HIEAThR (D) U IV TLeq0]
[.Q. of a talented child is

(A) 130 (B) 140

(€) 35 (D) 120

SfawTeTTet sTeTeh s gfg Afed Bl 2 D)

(A) 130 (B) 140 =

(C) 55 (D) 120

Schools should cater for individual differences to

(A) Make individual students feel exclusive.

(B) Narrow the gap between individual students.

(C) Not to assess the abilities and performance of students.
(D) Understand why students are able or unable to learn.
Tepett ol safdaa firTarsti 1 e e =nfee w=ife

(A) TS BT I e vagy #Em 79 |

(B) BTAI % & o 3T I HH H 2 |

(C) BEI Td BEATAT i AT 37 TS 1 T&1 91 o ferw |
(D) TR F R from de fand m s wi AR E |

A child of 16 years age, scores 75 in 1.Q. test. His mental age will be years.
(A) 8 (B) 14
(C) 15 (D) 12
16 a9 31y 1 F=1 gfg A TheTo 7 75 37 W AT 7, IGhH! AHIGH 3719 EL
& |
(A) 8 (B) 14
(C) 15 (D) 12
P.T.O.
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20.

21.

22.

23.

) PL-1

Who gave the formula of 1.Q. written below ?

Mental age

Intelligence Quotient =

(A) William Stern
(C) Binet

Chronological age x

100

(B) Terman
(D) Galton

f @ 3 forn, Frrferfiae wmfen forerd foom 7

A 31y

%Flﬁ}-'l:mx 100

(A) faferm =+
(C) fad

Creativity is usually associated with

(A) Hyperactivity
(C) Convergent thinking

FoATeHRAl EIa: fohad Trafd 8 7

(A) SAfaafsraan
(C) i famm

v

(B) T
(D) e

(B) Low comprehension
(D) Divergent thinking

(B) < SIETRIAT
(D) 3r9Erd fam

Which of the following condition promotes adjustment ?

(A) Acute anxiety
(C) Fear ofillness

(B) Obsessive thought of guilt
(D) Free from neurotic fears and anxiety

fyaferfiad o @ = = el aaiem = sgar edi 2 2

(A) s fa=mn

(C) dmdisst

Signs of gifted child are :
(i) Novelty in expression
(i) Curiosity

(ii1) Talkativeness

(iv) Hyper-activeness

(A) (i) and (iv)

(C) (ii) and (iv)
gfaurereft STeTe % A RN E ?
(i) sfireafaa o Fean

(i) Torsma

(iii) aratem e

(iv) rfeafsrar

(A) (i) 3 (iv)

(©) (i) 3 (iv)
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(B) 3T90Y & o SR § S A=
(D) fafére s 3ik foan @ gfda

" *
[=

(B) (i) and (ii)
(D) (1) and (iv)

(B) (i) 3T (ii)
(D) (iii) 3™ (iv)
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25.

26.

27.

) D
Two opposite desires present in an individual at the same time is called
(A) Contlict (B) Frustration
(C) Anxiety (D) Pressure
Ueh afed H§ Ueh G T 2l faufid =137 1 8H1 el 2
(A) =% (B) Bl
(©) fa=m (D) =

Ravi’s intelligence test indicates that he is in category average to above-average of
intelligence. However, his grades in reading, spelling, social sciences and science are very
low. His Math’s grades are quite high and writing skills are adequate. Ravi most likely has
(A) Dyscalculia (Maths Disorder) (B) Dysgraphia (Writing Disorder)

(C) Dyslexia (Reading Disorder) (D) Dysphasia (Language Disorder)

g =1 gfg wie 3fra s 2 & 98 37ea & oo, 3iea | stfues gigear i ooft § smar 2
BICATh g, a1, AmTtereh I 3R fas= o 39 IS 950 %0 & | 35 T < TS HTh!
31t B | T e et | 3rest 7 | T | s1fuss geqma 8

(A) Temsregpforan (vftra & wwaifea fawfa)

(B) femmfan (crem & wwafua fasfa) EGEE
(C) femifaean (ve- & wrafua fospha)

(D) Teasfoman (dem & Trafig faesfa)

“Learning is a process of progressive behaviour adaptation.” This statement was given by
which educationist ?

(A) Skinner (B) Woodworth

(C) Crow and Crow (D) Gates and others

g SRR T ITUT AR Hl Uk T B |7 98 e form frenfag o gro feamman 2
(A) feFm (B) Fead

(C) R TEH (D) TIeH Td 3

Srishti is the student of class two. She was taught basic mathematics by the teacher. Next
day while shopping she pointed out the mistake in total done by shopkeeper. Which type of
learning is this ?

(A) Negative transfer (B) Positive transfer

(C) Bilateral transfer (D) Zero transfer

Hefl — 2 1 B GiY I St 7 7ot i fawd % ware HEn, 7 fo 3 aen A
T @i % 3901 GHMHGR g1 31 TRt A1 i et 1 fafea e @t Ham | 98 sAimm
1 B T TR R 7

(A) ThTHD AT (B) Teh[IcHsh AT

(C) Tguefira wemrmaT (D) I TR

P.T.O.
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28.

29.

30.

(10) PL-1

Which of the following theory is also known as theory of reinforcement ?
(A) Operant conditioning theory

(B) Stimulus response theory

(C) Classical conditioning theory

(D) Theory of insight

o % & form fagr=a 1 qaiert o1 fagra i Fad & 7

(A) Toramsgg srgerem fagra

(B) SEITeh 3rafshan frgr

(C) el s g E ]

(D) F=TsfE g

Choose the example that illustrates intrinsic motivation.
(A) Vandana is working hard to score well in exams as she wants a gift from her parents.

(B) Urmila is completing her homework so that she can watch TV after completing her
homework.

(C) lla is reading more books so that she can secure first rank in District and her school
get fame at District level.

(D) Megha is exploring various resources for her project because she loves learning new
things.

ﬁnﬁf@ﬁgﬁﬁmmmwﬁﬁqsﬁm frsion i gutaT 2

(A) T T | 37T 37 UTd A & foTu sHar uftym o i 2 f5oa 98 34 arar-far o
IUER W L HF |

(B) 3 %eThe ek THT T 2 Fifeh TEehrd THT hich 98 3.t <@ Feht |

(C) 3ol wgd a1 Tedeh ug 1 B ifeh @ Rt # v T wred shtehs feranrerd 1 am fren
TR R 9 HEAT =E 2

(D) T 319 gl e & fore fafie oa qom @ 2 wife a7 73 S e e H
wa Tt # |

Who among the following has not propounded the learning theory ?

(A) Thorndike (B) Skinner
(C) Kohler (D) B.S. Bloom
fr 5 & fore sferm fagra o1 wfoares ==&t fopem 2

(A) e B) &

(C) HEeR (D) g, =™
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